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He should take it from her and redeliver it to her and say etc.

OVERVIEW

moon will be discussing at what point is a m°%w required to say 1"92. Is it
necessary that he says it at the moment of the delivery of the v3? Can it also
take place either before or after the delivery?
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It appears from this statement of 972X 21 150 that it is required that

1"'22 should be said at the time of delivering the 203 since the X3 states

‘he should take it from her, redeliver it to her, and say 1"52°. If there would be no
requirement to say 1"92 at the point of delivery, then why would it be necessary for the
9w to retrieve the va. It should be sufficient that he merely informs the 7" that 1"52. On
the other hand, even though it is apparent that he is required to say 1"92 at the point of
delivery, nevertheless —
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The same rule applies even if it was said after the delivery (provided that

it is said); within the time limit of a 9127 73, it is valid.

moon will offer a proof that saying 152 after the 711°n1, but 12°7 >75 70, is valid:
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Since the X713 previously* said: ‘that he gave her the v when he was
normal and he did not manage to say 1''22 before he became a deaf

mute’. He must have given the u3 while he was a np’». Otherwise it would not be a 03
w3 if a wn delivered it. It seems that if he had not become a w7n he would still be able
to say 1"93, (712°7 72 7IN) even though he delivered the va already. That would agree with
the previous conclusion that 212°7 >73 70 the m°%w may say 1"92.

mooIn presents us with a dilemma.

! See “Thinking it over’ # 2.
2 The commentaries offer various reasons why 1"92 should be said 7n1 nywa. It may be either because the
o°non bestowed this trustworthiness only to a °%w, and afterwards (or before?) he is not considered a m7w;
or because the Mm% is p7 P71 only at the time of the delivery of the va, etc.
3 9127 *72 is the time it takes to say the phrase *%1 *27 7%y o17w. Any delay less than that is not considered
a delay at all.
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However, after a delay of 91257 37> the >''9 is uncertain; whether it should

be valid when he says 1"92 as long as they are still involved in the delivery

of the v3. Perhaps this is still considered 71°n1 nyw2 -
- INDIN

r perhaps it is not valid; since it is 712°7 >72 IAKR? it is not 71°N1 NYW2.
O h t t valid t > X7 it t 7°n1 YW

mooIn presents an additional predicament:
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And if the m>w said 1"92 before® the delivery of the v3, the 3" is equally
unsure if it is valid.”

MooIN anticipates a possible resolution to this query and rejects it.
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And from that which the 71w» teaches us in vz ®2 pap, that ‘one who is

bringing a v from overseas and became ill before he was able to deliver the va

to the WX -
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The m°>w appoints another 7w in 7''92 as his replacement and the original

mooW says in 7"2°, etc. 1"02. It seems from there that 1"52 may be said even before the
v NN, In this case the %W is saying 1"92 before the delivery of the va to the Twx.

mooIn rejects this proof, saying:
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There is no proof from that 71wn that one may say 1"52 before he delivers

the v3, for there he is saying 152 when the ua is parting from his hand.
The 7w is actively involved in the continuation of his mm*5w, by appointing another
mow, and delivering the v to him. However our query is if he may say 1"92 while the 03 is
still in his possession, when he is not actively delivering the 0.

SUMMARY
The m%w says 1"92 at the point of delivery. It may also be said 712°7 72 70

> We find by pw17°p if the man and woman were '71v 1MX2 PRIV’ (regarding Pw17R) and he was wpn her;
she is nwTPn; the question here is if the same applies to 1"52 NMR.
61t is assumed that this took place before 1127 >7> of the 701, See 7"™w o',
7 1t is questionable if Moo is discussing when they are Piv 1MIX2 PPIOY or even when not PRIOY. See
‘Thinking it over’ # 1.
8 The o°non instituted that only a 5w is believed when saying 1"52. He must be actively involved in the
MM in order to be believed. See n'"n1 ,>"22 ,7"510 et al.
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after the delivery (or before the delivery). It is questionable what if the 5w
would say 1"91 after the delivery but they were still 71v 1mx2 Ppoy.
Similarly it is questionable if he said 1"92 before the delivery if it is valid. It
is not comparable to 722 7w 7w, for there the v is 17° NN KXY,

THINKING IT OVER

1. How can we explain that the P90 if 1"52 is valid 73°n1 InRY is only if POy
TV MR, however the poo if 1"92 is valid 72°n1 a7p, is not necessarily”® only
if Pav inRa Ppwow?t0

2. mooin rules that the 1"92 n7"mX must take place 71°nI7 PYywa (and NMdOIN
proves it).!! What (however) is the reason that it needs to be said nvwa
nrnIn?!?

? See footnote # 7.
10 See n"m.
1 See footnote # 1.
12 See op M *"Ha.
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